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JAILOR (MEN) & JAILOR (SPECIAL PRISION FOR WOMEN) IN THE TAMIL NADU 
JAIL SERVICE – 22/12/2023 

 
1. Which of the following is/are not an allotrope of Carbon? 

(i) Diamond 
(ii) Carborundum 
(iii) Graphite 
(iv) Fullerene 
a. (i) and (iii)   b. (ii) and (iv)  c. (ii) alone 

d. (i), (iii) and (iv)  e. Answer not known 
gpd;tUtdtw;Ws; vJ/vit fhh;gdpd; khw;WU my;y? 
(i) ituk; 
(ii) fhh;nghuz;lk; 
(iii) fpuhigl; 
(iv) Gy;yhPd; 
a. (i) kw;Wk; (iii)  b. (ii) kw;Wk; (iv)  c. (ii) kl;Lk; 
d. (i), (iii) kw;Wk; (iv) d. tpil njhpatpy;iy 
 

2. A food web consists of 
a. a portion of a food chain 
b. producer, consumer and decomposers 
c. interlocking food chains 
d. a set of similar consumers 
e. Answer not known 
czT tiy vd;gJ 
a. czTr; rq;fpypapd; xU gFjp   
b. cw;gj;jpahsh;fs;> Efh;Nthh; kw;Wk; rpijg;gd; 
c. czTr; rq;fpypapd; gpizg;G 
d. xj;j Efh;Nthhpd; njhFg;G 
e. tpil njhpatpy;iy 
 

3. Bandipur Wildlife Sancturay situated at 
a. Mudumalai  b. Mysore   c. Kerala 
d. Rajasthan   e. Answer not known 
ge;jpg;G+h; tdtpyq;F ruzhyak; mike;Js;s ,;lk; 
a. KJkiy   b. ik#h;   c. Nfush 
d. uh[];jhd;   e. tpil njhpatpy;iy 
 

4. In evolution, “use and disuse theory” was proposed by 
a. Charles Darwin   b. Alfred Wallace  c. Lamarck 
d. Hutten    e. Answer not known 
ghpzhktpaypy; “gad; kw;Wk; gadw;w” Nfhl;ghl;bid Kd;nkhope;jth; 
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a. rhh;y]; lhh;tpd;  b. My;gul; thy];  c. yhkhh;f; 
d. `hl;ld;   e. tpil njhpatpy;iy 
 

5. Which of the following compound is used as a fertilizer? 
a. Ammonium Chloride    b. Ammonium Bromide 
c. Ammonium Fluoride    d. Ammonium Oxide 
e. Answer not known 
fPo;f;fz;l ve;jr; Nrh;kk; cukhfg; gad;gLfpd;wd? 
a. mk;Nkhdpak; FNshiuL    b. mk;Nkhdpak; GNuhikL 
c. mk;Nkhdpak; /G@iuL    d. mk;Nkhdpak; Mf;irL 
e. tpil njhpatpy;iy 
 

6. If pH of any Aqueous Solution at 25Cis 18, then its pOH is equal to 
a. 1  b. 7  c. 0  d. 6  e. Answer not known 

xU ePh;kf; fiurypd; pH, 25 ntg;gepiyapy; 8 vd;why;> mjd; pOH vjw;F rkk;? 
a. 1  b. 7  c. 0  d. 6  e. tpil njhpatpy;iy 
  

7. Honey is separated from bees wax with help of 
a. Centrifuge   b. Centripetal  c. Polarizer 
d. Analyzer   e. Answer not known 
Njid mjd; nkOfpypUe;J gphpf;f gad;gLtJ 
a. ikatpyf;fp  b. ikaNehf;fp  c. jstpisthf;fp  
d. gFg;ghd;   e. tpil njhpatpy;iy 
 

8. If ‘g’ is absent in the Universe, which of the following statement is True? 
a. It leads to the sensation of weightlessness 
b. It leads to complete destruction 
c. We have day and night 
d. Both (a) and (b) are correct 
e. Answer not known 
mz;lj;jpy; Gtp<h;g;G KLf;fk; ,y;iynadpy; fPo;fz;ltw;Ws; vJ rhpahdJ? 
a. vilapdik vd;w czh;it Vw;gLj;Jk; 
b. Kw;wpYk; cUf;Fiyit Vw;gLj;Jk; 
c. ,uT gfy; vd;gd ehk; ghh;f;fyhk; 
d. (a) kw;Wk; (b) ,uz;Lk; rhp 
e. tpil njhpatpy;iy 
 

9. The main component of the food which helps our body to fight against infections is 
a. Carbohydrate   b. Protein   c. Fat 
d. Starch    e. Answer not known 
ekJ cztpd; Kf;fpa gFjpahfTk; NkYk; Neha; njhw;wpid vjph;j;J Nghuhl cjtp 
nra;tJk; ____ MFk;. 
a. fhh;Nghi`l;Nul;   b. Gujk;   c. nfhOg;G 
d. ];lhh;r;R    e. tpil njhpatpy;iy 
 

10. Consider the statement in regard to the SVAMITVA Scheme: 
1. The aim of this scheme is to update rural land records, providing a record of rights 

to village households and issue property cards. 
2. SVAMITVA is a central scheme of the ministry of Panchayat Raj and Rural 

Development. 
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3. This scheme to be implemented across the country in a phased manner over a 
period of ten years. 

Select the correct answer by using the code mentioned below: 
a. only 1 and 2  b. only 1 and 3  c. only 2 and 3 
d. only 3   e. Answer not known 
SVAMITVA jpl;lk; njhlh;ghd mwpf;ifia ftdpAq;fs;. 
(1) fpuhkg;Gw epyg;gjpNtLfisg; GJg;gpj;jy;> fpuhkg;Gwf; FLk;gq;fSf;F chpikg; 

gjpNtL toq;Fjy; kw;Wk; nrhj;J ml;ilfis toq;FJy; Mfpait ,j;jpl;lj;jpd; 
Nehf;fkhFk;. 

(2) SVAMITVA vd;gJ gQ;rhaj;J uh[; kw;Wk; Cuf tsh;r;rp mikr;rfj;jpd; kj;jpa 
jpl;lkhFk;. 

(3) ,j;jpl;lk; ehL KOtJk; gj;jhz;LfSf;Fs; xU fl;lkhf nray;gLj;jg;gLk;. 
fPNo Fwpg;gpl;Ls;s FwpaPl;ilg; gad;gLj;jp rhpahd gjpiy Njh;e;njLf;fTk;. 
a. (1) kw;Wk; (2) kl;LNk    b. (1) kw;Wk; (3) kl;LNk   
c. (2) kw;Wk; (3) kl;LNk    d. (3) kl;LNk 
e. tpil njhpatpy;iy 
 

11. Which is a sign of Economic recession? 
1. Rising Wages     2. Rise in Unemployment 
3. Rapid Industrialization    4. Stable Political Conditions 
a. 2, 3, 1, 4   b. 1, 3, 4, 2   c. 4, 3, 2, 1 
d. 3, 1, 4, 2   e. Answer not known 
nghUshjhu rhptpd; mwpFwp vJ? 
1. caUk; $yp    2. caUk; Ntiyapd;ik 
3. tpiuthd njhopy;tsh;r;rp  4. epiyahd murpay; #oy; 
a. 2, 3, 1, 4   b. 1, 3, 4, 2   c. 4, 3, 2, 1 
d. 3, 1, 4, 2   e. tpil njhpatpy;iy 
   

12. Which among the following schemes is a central sector scheme for comprehensive 
rehabilitation for welfare of transgender persons? 
a. SMILE   b. NAMASTE  c. AMBER 
d. WEST   e. Answer not known 
gpd;tUk; jpl;lq;fspy; jpUeq;iffspd; eyd; kw;Wk; xl;Lnkhj;j kWtho;tpw;fhd kj;jpa 
murpd; jpl;lk; vJ? 
a. ];iky;   b. ek];Nj   c. mk;gh; 
d. nt];l;   e. tpil njhpatpy;iy 
 

13. “Digital India” initiative was launched in the year 
a. 2012 b. 2013 c. 2014  d. 2015 e. Answer not known 
“b[pl;ly; ,e;jpah” vDk; Kd;Kaw;rp nray;gLj;jg;gl;l Mz;L 
a. 2012 b. 2013 c. 2014  d. 2015 e. tpil njhpatpy;iy 
 

14. Who wrote the book “Communist Manifesto”? 
a. Lenin   b. Stalin  c. Karl Marx and Friedrich Engels 

d. Adam Smith  e. Answer not known 
“nghJTilik mwpf;if” vDk; E}iy vOjpath;fs; ahh;? 
a. nydpd;  b. ];lhypd;  c. fhh;y; khf;]; kw;Wk; gpnubhpf; Vq;fy;]; 
d. Mlk; ];kpj; e. tpil njhpatpy;iy 
 

15. Kottai Ameer Award for the year 2022 is presented to Thiru J. Mohammed Rafi of _____ 
District of Tamil Nadu 
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a. Madurai   b. Coimbatore   c. Tiruppur 
d. Sivagangai   e. Answer not known 
Nfhl;il mkPh; tpUJ 2022 Mz;by; jpU. N[. KfkJ u/gp ngw;whh;. ,th; _____ 
khtl;lj;ijr; rhh;e;jth;. 
a. kJiu   b. Nfhak;Gj;J}h;  c. jpUg;G+h; 
d. rptfq;if   e. tpil njhpatpy;iy 
 

16. According to census of 2011, the union territory has the lowest density of population is 
a. Daman and Diu     b. Lakshadweep   
c. Andaman and Nicobar Islands   d. Dadar and Nagar Haveli 
e. Answer not known 
2011 Mk; Mz;L kf;fs; njhiff; fzf;nfLg;gpd;gb> ve;j A+dpad; gpuNjrj;jpy; kf;fs; 
njhif mlh;j;jp Fiwthf cs;sJ? 
a. lhkd; kw;Wk; ilA+     b. yl;rj;jPT 
c. me;jkhd; kw;Wk; epf;Nfhghh; jPTfs;   d. jhjh; kw;Wk; efh; `Ntyp 
e. tpil njhpatpy;iy 
 

17. The ____ soil is internationally known as tropical chernozems; are the third longest soil 
group in India. 
a. Desert soil   b. Alluvial soil   c. Red soil 
d. Black soil   e. Answer not known 
rh;tNjr mstpy; ntg;g kz;ly nrh;Ndhnrk; vd;W miof;fg;glf; $ba kz; _____. 
,it ,e;jpahtpy; %d;whtJ kpfg;nghpa kz; FOitr; rhh;e;jJ. 
a. ghiytd kz;  b. tz;ly; kz;   c. rptg;G kz; 
d. fUg;G kz;   e. tpil njhpatpy;iy 
 

18. The ____ River that does not originate in India. 
a. Beas   b. Sutlej    c. Chenab 
d. Ravi   e. Answer not known 
_____ MW ,e;jpahtpy; cUthdJ ,y;iy. 
a. gpah];   b. rl;y[;    c. nrdhg; 
d. utp    e. tpil njhpatpy;iy 
 

19. Which type of climate is having the following characteristics? 

(i) Mean annual temperature is above 18C. 
(ii) Seasonal Rainfall (in Summer). 
(iii) Stretches over the rain shadow region. 
a. Semi Arid Steppe climate   b. Hot desert climate 
c. Mesothermal climate    d. Tropical Moist Climate 
e. Answer not known 
ve;jtif fhyepiy gpd;tUk; gz;Gfisf; nfhz;Ls;sJ? 
(i) Mz;L ruhrhp ntg;gepiy 18C f;F Nky;. 
(ii) gUtfhy kio (Nfhil fhyj;jpy;) 
(iii) kiokiwT gFjpapy; mike;Js;sJ. 
a. kpjtwz;l Gy;ntsp fhyepiy   b. madkz;ly ghiytdf; fhyepiy 
c. kpjntg;g <uf; fhyepiyfs;   d. ntg;gkz;ly <ukhd fhyepiy 
e. tpil njhpatpy;iy 
 

20. Ozone layer concentrates mainly above 10 to 15 km from the earth’s surface. This layer 
is known as  
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a. Troposphere   b. Stratosphere  c. Mesosphere 
d. Ionosphere  e. Answer not known 
XNrhd; mLf;F Kf;fakhfg; G+kpapd; Nkw;gug;gpy; ,Ue;J 10 Kjy; 15 fp.kP.f;F Nky; 
Ftpe;Js;sJ. mjd; ngah; vd;d? 
a. l;NuhNgh];gpah;  b. ];Nul;Nlh];gpah;   c. kPNrh];gpah; 
d. maNdh];gpah;  e. tpil njhpatpy;iy 
 

21. Choose the correct options among the following major tribes in Tamil Nadu. 
(i) Kurumbas 
(ii) Paniyan 
(iii) Toda 
(iv) Bhaina 
a. (i), (ii) and (iv)  b. (ii), (iii) and (iv)  c. (i), (ii) and (iii) 

d. (iii) and (iv)  e. Answer not known 
gpd;tUtdtw;Ws; jkpo;ehl;bd; Kf;fpa goq;Fbapdh;? 
(i) FWk;gh; 
(ii) gzpah; 
(iii) Njhlh; 
(iv) igd;dh; 
a. (i), (ii) kw;Wk; (iv)  b. (ii), (iii) kw;Wk; (iv)  c. (i), (ii) kw;Wk; (ii) 
d. (iii) kw;Wk; (iv)  e. tpil njhpatpy;iy    
 

22. Name the type of government existed during the Gupta period. 
a. Polyarchy   b. Monarchy   c. Anarchy 
d. Autarchy   e. Answer not known 
Fg;jh; fhyj;jpy; ,Ue;j murhq;fj;jpd; tifiaf; Fwpg;gplTk;. 
a. FO Ml;rp   b. Kbahl;rp   c. muh[f Ml;rp 
d. vNjr;rjpfhu Ml;rp e. tpil njhpatpy;iy 
 

23. Khwaja Jahan was the Wazir of the following Sultan 
a. Mohamed Bin Tuglaq  b. Firoze Tughlaq  c. Mohamed I 
d. Tuglaq Shah II   e. Answer not known 
Fth[h [`hd; vd;gth; fPo;f;fz;l Ry;jhdpd; trPh; Mf ,Ue;jth;. 
a. KfkJ gpd; Jf;sf;  b. ngNuh]; Jf;sf;  c. Kjyhk; kfkJ 
d. ,uz;lhk; Jf;sf; ~h  e. tpil njhpatpy;iy 
 

24. Which among the following dynasties levied the tax known as “Chauth”? 
a. Marathas   b. Cholas   c. Chandellas 
d. Mauryas   e. Answer not known 
gpd;tUk; muRfspy;> ve;j muR ‘nrsj;’ vdg;gLk; thpia tpjpj;jJ? 
a. kuhl;bah;   b. Nrhoh;fs;   c. rz;bfsh]; 
d. nkshpah;fs;  e. tpil njhpatpy;iy 
  

25. The last ruler of Sangama Dynasty ______. 
a. DevaRaya – I  b. MallikarjunaRaya  c. Virupaksha-II 

d. DevaRaya – II  e. Answer not known 
rq;fk tk;tj;jpf; filrp kd;dh; ______. 
a. Kjyhk; Njtuhah; b. ky;ypfhh;[_duhah;  c. ,uz;lhk; tpUghf;~h; 
d. ,uz;lhk; Njtuhah; e. tpil njhpatpy;iy 
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26. Konark Sun Temple is also called as _____. 
a. Blue Pagoda  b. Golden Pagoda  c. Black pagoda 

d. White Pagoda  e. Answer not known 
Nfhdhh;f; #hpaf;Nfhtpy; vt;thW miof;fg;gLfpwJ? 
a. ePy gNfhNlh  b. jq;f gNfhlh  c. fUg;G gNfhlh 
d. nts;is gNfhlh  e. tpil njhpatpy;iy 
 

27. An astronomical observatory near Dauladabad was built by 
a. Alauddin Hasan Gangu  b. Mohamed Gawan c. Humayun Shah 
d. Firoz Shah Bahmini  e. Answer not known 
njsyjhgj;jpw;F mUfpy; thdpay; Ma;Tf;$lk; fl;bath; ahh;? 
a. myhTjPd; `rd; fq;F  b. KfkJ fthz;  c. `_khA+d; ~h 
d. ngNuh~h ghkpdp   e. tpil njhpatpy;iy 
 

28. Every person has the right to freely practice his or her faith established and maintain 
Religious and Charitable Institutions. 
a. Rights to Freedom    b. Rights to Equality  
c. Cultural and Educational Rights  d. Rights to Freedom of Religion 

e. Answer not known 
xt;nthU egUk; jdJ ek;gpf;ifiar; Rje;jpukhff; filg;gpbf;f chpik cz;L. kj 
kw;Wk; njhz;L epWtdq;fis epWtTk; guhkhpf;fTk; _____ chpik Njitg;gLfpwJ. 
a. Rje;jpu chpik  b. rk chpik c. fyhr;rhu kw;Wk; fy;tp chpik 
d. kj Rje;jpuj;jpw;fhd chpik e. tpil njhpatpy;iy 
 

29. Who described “Administrative Law as contrary to the Rule of Law”? 
a. P.C. Jain   b. A.V. Dicey   c. Ivor Jennings 
d. C.F. Strong  e. Answer not known 
“eph;thfr; rl;lk;> rl;lj;jpd; Ml;rpf;F KuzhdJ” vd tpthpj;jth; ahh;? 
a. P.C. n[apd;  b. A.V. nla;]p   c. Ith; n[d;dpq;]; 
d. C.F. ];l;uhq;  e. tpil njhpatpy;iy 
 

30. The aim of appointing the Sarkaria Commission was to make recommendations on 
a. Eradicate corruption    b. Centre-State relation 

c. Develop Local Administration    d. Study the Levels of Administration 
e. Answer not known 
rh;fhhpah Mizak; vijf; Fwpj;Jg; ghpe;Jiuf;f mikf;fg;gl;lJ? 
a. Coy; xopg;G     b. xd;wpa – khepy cwTfs; 
c. cs;shl;rp eph;thf Nkk;ghL   d. eph;thf epiyfs; Fwpj;J Muha 
e. tpil njhpatpy;iy 
 

31. Which article of the Indian constitution states that the Executive Power of the state shall 
be vested with the Governor? 
a. Article 153   b. Article 154   c. Article 155 
d. Article 156   e. Answer not known 
xU khepyj;jpd; nrayhw;Wk; mjpfhuq;fs; MSehplk; ,Uf;Fk; vdf; $Wk; murikg;G 
tpjp vJ? 
a. tpjp 153   b. tpjp 154   c. tpjp 155 
d. tpjp 156   e. tpil njhpatpy;iy 
  

32. Which of the following is not matched correctly? 
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a. The Protection of Civil Right Act – 1955 
b. The Wildlife Protection Act – 1972 
c. The Forest Conservation Act – 1980 
d. The Representation of People’s Act – 1957 
e. Answer not known 
gpd;tUtdtw;wpy; vJ rhpahfg; nghUj;jg;gltpy;iy? 
a. rptpy; chpikfs; ghJfhg;Gr; rl;lk; - 1955 
b. tdtpyq;F ghJfhg;Gr; rl;lk; - 1972 
c. tdg; ghJfhg;Gr; rl;lk; - 1980 
d. kf;fs; gpujpepjpj;Jtr; rl;lk; - 1957 
e. tpil njhpatpy;iy 
 

33.  Which of the following statements are true about fundamental duties? 
(i) To provide free and compulsory education to children between the age 6 – 14 

years 
(ii) To safeguard public property 
(iii) To develop Scientific Temper 
a. (i) only   b. (ii) and (i) only   c. (ii) and (iii) only 
d. (i), (ii) and (iii)  e. Answer not known 
mbg;gilf; flikfisg; gw;wpa gpd;tUk; nrhw;nwhlh;fspy; vit rhpahdit? 
(i) 6-14 taJ cs;s Foe;ijfSf;Ff; ,ytr kw;Wk; fl;lhaf; fy;tp nfhLj;jy;. 
(ii) nghJr; nrhj;ijg; ghJfhj;jy;. 
(iii) mwptpay; kdg;ghq;fpid tsh;j;Jf; nfhs;sy; 
a. (i) kl;Lk;     b. (ii) kw;Wk; (i) Mfpad kl;Lk; 

c. (ii) kw;Wk; (iii) Mfpad kl;Lk;  d. (i), (ii) kw;Wk; (iii) Mfpait 
e. tpil njhpatpy;iy 
 

34. (i) The Fundamental Rights are enshrined in Part III of the constitution from Article 12 
to 35. 
(ii) Part III of the constitution is rightly described as the Magna Carta of India. 
Which of the above statement is/are true? 
a. (i) only   b. (ii) only   c. (i) and (ii) 

d. None of the above e. Answer not known 
(i) mbg;gil chpikfs; gFjp III ,y; rl;lg;gphpT 12 Kjy; 35 tiu Fwpg;gplg;gl;Ls;sJ. 
(ii) ,e;jpahtpd; kfh rhrdk; vd;W tpthpf;fg;gLfpwJ gFjp III. 
a. (i) kl;Lk;    b. (ii) kl;Lk;   c. (i) kw;Wk; (ii) 
d. ,tw;wpy; vitAk; ,y;iy e. tpil njhpatpy;iy 
 

35. The foundational objective of enacting the Right to Information Act is to ensure ____. 
a. Social Justice      
b. Economic development 
c. Efficiency and effectiveness of governance 
d. Accountability and transparency in governance 
e. Answer not known 
jfty; mwpAk; chpikr; rl;lk; ,aw;wg;gl;lj;;jpd; mbg;gil Nehf;fkhtJ ______. 
a. r%f ePjp      
b. nghUshjhu tsh;r;rp 
c. nray;jpwDk;> nray;typikAkhd Ml;rp Kiw 
d. nghWg;ghf> xspT kiwtw;w Ml;rp Kiw 
e. tpil njhpatpy;iy 
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36. Delhi has emerged as the National Capital territory with a legislature and a council of 

ministers by 
a. 65th Constitutional Amendment  b. 67th Constitutional Amendment 
c. 69th Constitutional Amendment  d. 71st Constitutional Amendment 
e. Answer not known 
nly;yp rl;lkd;wk; kw;Wk; mikr;ruitAld; $ba Njrpaj; jiyefug; gFjpahf 
cUthf;fg;gl;l murikg;Gr; rl;lj; jpUj;jk;. 
a. 65tJ murikg;G rl;lj;jpUj;jk;  b. 67tJ murikg;G rl;lj;jpUj;jk; 
c. 69tJ murikg;G rl;lj;jpUj;jk;  d. 71tJ murikg;G rl;lj;jpUj;jk; 
e. tpil njhpatpy;iy 
 

37. According to the Human Development Report (2020) India ranked at ____ place. 
a. 159  b. 131  c. 100  c. 50  e. Answer not known 
kdpj ts Nkk;ghl;L mwpf;ifapd;gb (2020) ,e;jpah _____ jug;gl;bay; ,lj;jpy; 
cs;sJ. 
a. 159  b. 131  c. 100  c. 50  e. tpil njhpatpy;iy 
 

38. The lines “We can’t live happily as islands in a sea of poverty” were propounded by 
a. Mr. Nilkantha Rath  b. M.S. Swaminathan c. Dr. V.M. Dandekar 
d. Mr. P.D. Ojha   e. Answer not known 
“tWikf; flypy; jPTfshf ehq;fs; kfpo;r;rpAld; thoKbahJ” vd;w nrhw;fis 
Kd;nkhope;jth; ______. 
a. jpU. ePyfhe;j uhj;     b. vk;.v];. Rthkpehjd;  

c. lhf;lh; tp.vk;. jz;Nlfh;    d. jpU. gp.b. X[h 
e. tpil njhpatpy;iy 
 

39. Arrange the following Events in Chronological Order 
(1) Regional Rural Banks 
(2) Seeds Bill 
(3) Comprehensive Crop Insurance Scheme 
(4) Kisan Credit Card 
a. (3), (1), (2), (4)   b. (2), (3), (4), (1)  c. (1), (3), (4), (2) 

d. (4), (2), (3), (1)   e. Answer not known 
fPo;f;fhZk; epfo;Tfis fhythpahf thpirg;gLj;Jf. 
1. tl;lhu fpuhk tq;fpfs; 
2. tpij kNrhjh 
3. xUq;fpize;j gaph; fhg;gPl;Lj; jpl;lk; 
4. fprhd; fld; ml;il 
a. (3), (1), (2), (4)   b. (2), (3), (4), (1)  c. (1), (3), (4), (2) 

d. (4), (2), (3), (1)   e. tpil njhpatpy;iy 
 

40. Which one tax is not related to direct tax? 
a. Gift Tax   b. Wealth Tax  c. Income Tax 
d. Customs Duty  e. Answer not known 
ve;j xU thp Neub thpf;F njhlh;gpy;yhjJ? 
a. ed;nfhil thp  b. nrhj;J thp  c. tUkhd thp 
d. Rq;f thp   e. tpil njhpatpy;iy 
 

41. Which of the following function/s is/are performed by the Reserve Bank of India? 
(1) Issue of currency 
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(2) Control of Bank Credit 
(3) Bankers to the Government 
(4) Control of Exchange rate 
a. (1) only   b. (2) only   c. (1), (2) and (4) only 
d. (1), (2), (3) and (4) e. Answer not known 
fPo;f;fz;l gzpfspy; hprh;t; tq;fp Nkw;nfhs;Sk; gzpfs; vJ/vit? 
(1) gzj;ij ntspapLjy; 
(2) tq;fp fld;fisf; fl;Lg;gLj;Jjy; 
(3) murpd; tq;fp 
(4) khw;W tPjj;ijf; fl;Lg;gLj;Jjy; 
a. (1) kl;Lk;    b. (2) kl;Lk;  c. (1)> (2) kw;Wk; (4) kl;Lk; 
d. (1)> (2)> (3) kw;Wk; (4)  e. tpil njhpatpy;iy 
 

42. Atal Innovation Mission was developed by _____. 
a. NASSCOM  b. Niti Ayog  c. Bharat Interface for Money App 
d. Pradhan Mantri Gram Sadak Yojana e. Answer not known 
ml;ly; ,d;NdhNt~d; kp~d; ____ My; Nkk;gLj;jg;gl;lJ. 
a. eh];fhk;   b. epjp MNahf c. ghuj; ,z;lh;/Ng]; kzp nrayp 
d. gpujhd; ke;jphp fpuhk; rlf; Nah[dh  e. tpil njhpatpy;iy 
 

43. State whether the statements are true or false. 
(i) In Mixed Economy, both Public and Private Sector Co-existence 
(ii) Mixed Economy followed by India 
a. Both (i) and (ii) are true    b. Both (i) and (ii) are false 

c. (i) is true but (ii) is false    d. (i) is false but (ii) is true 
e. Answer not known 
fPo;f;fz;l $w;Wfs; rhpah jtwh vd;gijf; Fwpg;gplTk;. 
(i) fyg;G nghUshjhuj;jpy;> nghJ kw;Wk; jdpahh; Jiw ,uz;Lk; ,ize;J 

,Uj;jy;. 
(ii) ,e;jpahtpy; fyg;Gg; nghUshjhu Kiw gpd;gw;wg;gLfpwJ. 
a. (i) kw;Wk; (ii) ,uz;Lk; rhp   b. (i) kw;Wk; (ii) ,uz;Lk; jtwhdit 
c. (i) rhp; Mdhy; (ii) jtwhdJ   d. (i) jtwhdJ; Mdhy; (ii) rhp 
e. tpil njhpatpy;iy 
 

44. “_____ with their blood sacrificed, these heroes have established traditions, which the 
future soldiers of free India shall have to uphold”. 
a. Subhash Chandra Bose    b. Pattabhi Sittaramayya 
c. Captain Lakshmi Sahgal    d. Rash Behari Bose 
e. Answer not known 
“______ mth;fspd; ,uj;jj; jpahfk; %yk;> ,e;j khtPuh;fs; Rje;jpu ,e;jpahtpd; 
tUq;fhy tPuh;fs; epiyepWj;j Ntz;ba ghuk;ghpaq;fis epWtpAs;sdh;” 
a. Rgh~; re;jpu Ngh];    b. gl;lhgp rpj;juhikah 
c. Nfg;ld; yl;Rjp Nrfy;    d. uh~; gp`hhp Ngh]; 
e. tpil njhpatpy;iy  
 

45. The famous Patriotic song “Sare Jahanse Acha” was composed by _____. 
a. Mohammed Iqbal  b. Nehru   c. Tagore 
d. Syed Ali    e. Answer not known  
“rhNu [`hq;Nr mr;rh’ vd;w Gfo; ngw;w Njrg;gw;W ghliy njhFj;jth; 
a. KfkJ ,f;ghy;  b. NeU   c. jh$h; 
d. iraJ myp  e. tpil njhpatpy;iy 
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46. The ‘Do or Die” campaign became popular through _____. 

a. Khilafat Movement    b. Non Co-operation Movement 
c. Civil Disobedience Movement   d. Quit India Movement 
e. Answer not known 
ve;j ,af;fj;jpd; %ykhf “nra; my;yJ nrj;Jkb” vd;Dk; gpur;rhuk; mwpag;gl;lJ? 
a. fpyhgj; ,af;fk;     b. xj;Jioahik ,af;fk; 
c. rl;l kWg;G ,af;fk;    d. nts;isaNd ntspNaW ,af;fk; 
e. tpil njhpatpy;iy 
 

47. Who was known as the Heroine of Quit India Movement? 
a. Aruna Asaf Ali   b. Madam Cama  c. Annie Besant 
d. Ambika Charan   e. Answer not known  
nts;isaNd ntspNaW ,af;fj;jpd; fjhehafp vdf; fUjg;gLgth; ahh;? 
a. mUzh Mrg; myp  b. Nklk; fhkh   c. md;dpngrd;l; 
d. mk;gpfh ruz;   e. tpil njhpatpy;iy 
 

48. Rajaji started the civil disobedience movement on _____. 
a. March 12, 1930   b. April 13, 1930   c. April 29, 1930 
d. April 30, 1930   e. Answer not known 
,uh[h[p rl;l kWg;Gg; Nghuhl;lj;ijj; njhlq;fpa ehs; _____. 
a. khh;r; 12> 1930   b. Vg;uy; 13> 1930   c. Vg;uy; 29> 1930 
d. Vg;uy; 30> 1930   e. tpil njhpatpy;iy 
 

49. Sardar Bhagat Singh was hanged at ____. 
a. Delhi   b. Lahore   c. Calcutta 
d. Chittagong  e. Answer not known 
rh;jhh; gfj;rpq; J}f;fpyplg;gl;l ,lk; _____. 
a. nly;yp   b. yh$h;   c. fy;fj;jh 
d. rpl;lfhq;   e. tpil njhpatpy;iy 
 

50. Choose the right answer: 
In which place Lord Canning published the Queen’s Proclamation on 1858? 
a. Allahabad    b. Delhi   c. Bengal 
d. Kanpur    e. Answer not known 
rhpahd tpiliaj; Njh;e;njLf;f: 
fp.gp. 1858-y; fhdpq; gpuG ve;j ,lj;jpy; kfhuhzpahh; gpufldj;ij ntspapl;lhh;? 
a. myfhghj;    b. nly;yp   c. tq;fhsk; 
d. fhd;G+h;    e. tpil njhpatpy;iy    

 
51. Adichchanallur site was first excavated by  

a. John Marshall   b. Andew Jagor  c. Bruce Foote 
d. Cunning Ham   e. Answer not known 
Mjpr;rey;Y}h; mfo;tha;it Kjd; Kjypy; Nkw;nfhz;lth; 
a. [hd; khh;~y;   b. Md;l;& [hNfhh;  c. G&]; G+l; 
d. fd;dpq; `hk;    e. tpil njhpatpy;iy 
 

52. What does the Word ‘Sangam’ denotes?  
a. Assembly of Elders  b. Assembly of Artists      c. Assembly of Tamil Poets 

d. Assembly of Tamil Kings e. Answer not known 
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‘rq;fk;’ vd;w nrhy; vijf; Fwpf;fpwJ? 
a. nghpath;fspd; mit  b. fiyQh;fspd; mit c. jkpo;f; ftpQh;fs; mit 
d. jkpo; murh;fs; mit  e. tpil njhpatpy;iy 
 

53. The battle that gave a severe blow to the Vijayanagar Empire and there by paved the 
way for the transfer of capital from Vijayanagar to Renukonda was__________. 
a. Battle of Talaikotta  b. Battle of Toppur   c. Thiru Purambiam War 
d. First Carnatic War  e. Answer not known 
tp[aefug; NguuRf;F kpfg;nghpa Njhy;tpia nfhLj;jJk;> jiyefh; tp[aefuj;jpy; 
,Ue;J NuZnfhz;lhtpw;F khw;W toptFj;jJkhd Nghh; __________. 
a. jiyf;Nfhl;il Nghh;  b. Njhg;G+h; Nghh;  c. jpUg;Gwk;gpak; Nghh; 
d. Kjy; fh;ehlfg; Nghh;  e. tpil njhpatpy;iy 
 

54. On 2nd November 1927, the Manimegalai Sangam, a Devadasi Women’s Association 
organized a meeting at Coimbatore under the presidentship of ____________ . 
a. Choudri V. Konambal  b. Dr. Muthulakshmi c. Mrs. Annamma Raja 
d. Mrs. Annie Besant  e. Answer not known 
ahUila jiyikapd; fPo; etk;gh; 2-k; Njjp 1927> kzpNkfiy rq;fk; vd;fpw Njtjhrp 
ngz;fspd; rq;f $l;lk; Vw;ghL nra;ag;gl;lJ? 
a. nrsj;jphp tp. Nfhdhk;ghs; b. lhf;lh;. Kj;Jnyl;Rkp c. jpUkjp. md;dk;kh uh[h 

 d. jpUkjp. md;dp ngrz;l;  e. tpil njhpatpy;iy 
 
55. Who among the following personalities introduced the ‘Self Respect Marriage 

Protection Act’ in 1968? 
a. Perarignar Anna   b. Rajaji   c. Bhaktavatchalam 
d. Kamarajar    e. Answer not known 
fPNo nfhLf;fg;gl;lth;fspy; ahh; 1968 k; Mz;L Rakhpahij jpUkz ghJfhg;Gr; 
rl;lj;ij mwpKfg;gLj;jpath;? 
a. NguwpQh; mz;zh   b. ,uh[h[p   c. gf;jtj;ryk;  
d. fhkuh[h;    e. tpil njhpatpy;iy 
 

56. C.N. Annadurai join the Justice Party in  ___________ . 
a. 1925 A.D.   b. 1935 A.D.  c. 1940 A.D. 
d. 1947 A.D.   e. Answer not known 
ePjp fl;rpapy; rp.vd;.mz;zhJiu ___________  Nrh;e;jhh;. 
a. fp.gp.1925   b. fp.gp.1935   c. fp.gp.1940 
d. fp.gp. 1947   e. tpil njhpatpy;iy 
 

57. Why EVR Periyar started Self-respect movement? 
a. To abolish caste system  b. To abolish religious c. To abolish Brahmanism 
d. To abolish Congress  e. Answer not known 
<.nt.uh. nghpahh; Rakhpahij ,af;fj;ij Vd; njhlq;fpdhh;? 
a. rhjp xopg;gpw;fhf    b. rkaq;fis xopg;gjw;fhf  
c. gpuhkzpaj;jpid xopg;gjw;fhf  d. fhq;fpurpid xopg;gjw;fhf 
e. tpil njhpatpy;iy. 
 

58. As what animal should we become while doing a work: from the Kural “Kokoka 
Koombum Paruvathu”? 
a. Crane   b. Turtle   c. Rabbit 
d. Ant    e. Answer not known 
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“nfhf;nfhf;f $k;Gk; gUtj;J”… vd;w Fwspy; vijg; Nghd;W fhhpaj;ij Kbf;f 
Ntz;Lnkd;W ts;Sth; $Wfpwhh;? 
a. nfhf;F    b. Mik    c. Kay;  
d. vWk;G    e. tpil njhpatpy;iy. 
 

59. What are the vices of the King according to Thirukkural that makes the King not liked 
or offensive? 
a. Unwanted Pleasure  b. False honor  c. Stinginess 
d. All three    e. Answer not known 
kd;ddpd; Fw;wkhd ,ay;G vJntd;W jpUf;Fws; $WfpwJ? 
a. Ntz;lhj kfpo;r;rp  b. ngha;ahd khdk;  c. fQrj;jd;ik 
d. ,k;%d;Wk;    e. tpil njhpatpy;iy 
 

60. True saints need not show so by their outward appearance, if they abstain from things 
that are universal considered wrong would automatically lead them to Sainthood- State 
the Kural with this meaning. 
a. Vaanuyar Thotram Evanseyyum Thannenjam  

Thaanari Kutrap Patin. 
b. Purangundri Kantanaiya Renum Akagundri 

Mukkir Kariyaar Utaiththu. 
c. Manaththadhu maasaaka Maantaar Neeraati  

Maraindhozhukku Manthar Palar. 
d. Mazhiththalum Neettalum Ventaa Ulakam  

Pazhiththathu Ozhiththu Vidin. 
e. Answer not known. 
fPo;f;fhZk; nghUis cila jpUf;Fwis Njh;f. 
“cz;ikahd Jwtpfs; Ntlk; Nghl Ntz;ba Njitapy;iy. cyfk; gopf;fpd;w 
jtwhd nray;fis xopj;JtpLtJ xd;Nw JwtpfSf;F Ntz;LtJ” 
a. thDah; Njhw;wk; vtd;nra;Ak; jd;ndQ;rk;  

jhdwp Fw;wg; gbd;. 
b. Gwq;Fd;wp fz;lida NuDk; mfq;Fd;wp  

%f;fpw; fhpahh; cilj;J. 
c. kdj;jJ khrhf khz;lhh; ePuhb  

kiwe;J xOF khe;jh; gyh;. 
d. kopj;jYk; ePl;lYk; Ntz;lh cyfk; 

gopj;jJ xopj;J tpbd;. 
e. tpil njhpatpy;iy. 
 

61. What action is greater than the world itself? 
a. Timely help    b. Help in anticipation of benefit 
c. Assistance in a timely Manner  d. Useful help  e. Answer not known 
a. jf;f fhyj;jpy; nra;ag;gLk; cjtp b. gaid vjph;ghh;j;Jr; nra;Ak; cjtp 
c. nghWikahfr; nra;ag;gLk; cjtp d. gaNdhL $ba cjtp 
e. tpil njhpatpy;iy 
 

62. Who wrote the drama titled “Yaarukkum Vetkamillai”? 
a. Mouli    b. Crazy Mohan   c. Cho 

d. S.V.Sekar    e. Answer not known 
“ahUf;Fk; ntl;fkpy;iy” vd;Dk; ehlfj;jpid vOjpath; ahh;? 
a. nksyp    b. fpNurp Nkhfd;   c. Nrh 
d. v];.tp.Nrfh;   e. tpil njhpatpy;iy 
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63. Which of the Azhwar is very much involved in Ramavataar? 

a. Kulasekarar   b. Periyalwaar  c. Aandaal 
d. Thirumazhisaiyalwaar  e. Answer not known 
,uhk mtjhuj;jpy; kpFe;j <LghL nfhz;l Mo;thh; ahh;? 
a. FyNrfuh;    b. nghpaho;thh;  c. Mz;lhs; 
d. jpUkopiraho;thh;  e. tpil njhpatpy;iy 
 

64. Who is the author of “Mullai Paattu”? 
a. Nallanthuvanaar   b. Nathathathanaar  c. Nakeerar 
d. Napboothanaar   e. Answer not known 
“Ky;iyg; ghl;L” – vd;Dk; E}ypd; Mrphpah; ahh;? 
a. ey;ye;Jtdhh;   b. ej;jj;jdhh;  c. ef;fPuh;  
d. eg;G+jdhh;    e. tpil njhpatpy;iy 
 

65. Match the following: 
i. Nazhigai Vattil   1. Smaller measure 
ii. Nazhi    2. Larger cubic content 
iii. Ambaram    3. Measuring horse gram 
iv. Padhakku    4. Hour gram 
 i ii iii iv 
a.  3 4 1 2 
b.  2 3 4 1 
c. 4 1 2 3 
d. 1 2 4 3 
e.  Answer not known 
rhpahdtw;iw nghUj;Jf: 
i. ehopif tl;by;     1. rpwpa msit 
ii. ehop      2. nghpa mWq;Nfhz msit 
iii. mk;ghuk;      3. Fjpiu fpuhk; msT 
iv. gjf;F      4. Neu msT 

i ii iii iv 
a.  3 4 1 2 
b.  2 3 4 1 
c. 4 1 2 3 
d. 1 2 4 3 
e.  tpil njhpatpy;iy 
  

66. In Tamil Nadu the Electronic National Agricultural Mrket Portal was launched in 
____________ . 
a. April, 2015   b. April, 2016   c. April, 2017 
d. June, 2016   e. Answer not known 
jkpo;ehl;by; Njrpa tptrha kpd;dZ mq;fhbf;fhd ,iza Kfg;G __________ y; 
njhlq;fg;gl;lJ.  
a. Vg;uy; 2015    b. Vg;uy; 2016   c. Vg;uy;> 2017 
d. [{d;> 2016    e. tpil njhpatpy;iy. 
 

67. _____________ is the first state to establish Bio-Technology part for women in India. 
a. Tamil Nadu  b. Kerala   c. Gujarat   
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d. Punjab   e. Answer not known 
,e;jpahtpy; _____________ khepyk; Kjypy; kfsph; caph;j; njhopy;El;gg; G+q;fhit 
njhlq;fpaJ. 
a. jkpo;ehL   b. Nfush   c. F[uhj; 
d. gQ;rhg;   e. tpil njhpatpy;iy  
 

68. Match the Industrial Development of Tamil Nadu as per the policy note of Govt. of 
Tamil Nadu 2021-22 with their corresponding ranks given in Indian level. 
A. Textiles      1. First 
B. Food Processing     2. Second 
C. Rubber and Plastic    3. Third 
D. Automobiles and Auto Components  4. Fourth 
 A B C D 
a.  1 3 2 4 
b.  3 2 4 1 
c. 2 4 3 1 
d. 4 1 3 2 
e.  Answer not known 
jkpof murpd; Nfhs;iff; Fwpg;G 2021-22 d; gb jkpo; ehl;Lj; njhopy; tsh;r;rpia 
mjNdhL njhlh;Gila ,e;jpa mstpyhd juthpirNahL nghUj;Jf. 
A. Jzp     1. Kjyplk; 
B. czTg; gjg;gLj;jy;   2. ,uz;lhkplk; 
C. ug;gh; kw;Wk; nefpo;   3. %d;whkplk; 
D. thfd cw;gj;jp kw;Wk; thfd  
   cjphp ghfq;fs;    4. ehd;fhkplk; 
 A B C D 
a.  1 3 2 4 
b.  3 2 4 1 
c. 2 4 3 1 
d. 4 1 3 2 
e.  tpil njhpatpy;iy 
 

69. Which is the First state to employ differently abled, in the mahatma Gandhi National 
Rural Employment Guarantee Scheme? 
a. Tamil Nadu  b. Kerala   c. Karnataka  
d. Gujarat   e. Answer not known 
kfhj;kh fhe;jp Njrpa Cuf Ntiy tha;g;G cWjpj; jpl;lj;jpy;> khw;Wj; jpwdhspfisg; 
gzpakh;j;jpa Kjy; khepyk; vJ? 
a. jkpo;ehL   b. Nfush   c.fh;ehlfh 
d. F[uhj;   e. tpil njhpatpy;iy  
 

70. TNHSRP focuses in particular the projects: 
i. Reducing material and neo-natal mortality rates in Tamil Nadu 
ii. Improving tribal health 
iii. Facilitating use of hospitals by underprivileged groups 
iv. Accidential care  
a. (i) is true but (iv)is false       b. Both(i) and(iii) are true: and(iv) is not a correct answer 
c. (iv) is true (iii) is false        d. Both (i) and (iv) are true, (ii) is false 
e. Answer not known 
TNHSRP jpl;lk; Fwpg;ghff; ftdk; nrYj;Jtd 



 

15 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

i. jkpofj;jpy; nghUs; kw;Wk; gpwe;j Foe;ij ,wg;G tpfpjq;fisf; Fiwj;jy; 
ii. goq;Fbapdhpd; MNuhf;fpaj;ij Nkk;gLj;Jjy; 
iii. gpd; jq;fpa FOf;fs; kUj;Jtkidfisg; gad;gLj;Jtij tuNtw;wy; 
iv. tpgj;J guhkhpg;G 
a. (i) cz;ik Mdhy;  (iv) ngha;        
b. (i) kw;Wk; (iii) ,uz;Lk; cz;ik. Mdhy; (iv) vd;gJ rhpahd gjpy; my;y. 
c. (iv) cz;ik Mdhy; (iii) ngha;          
d.  (i) kw;Wk;  (iv) ,uz;Lk; cz;ik (ii) ngha; 
e.  tpil njhpatpy;iy  
 

71. Tamil Nadu Police Museum is located at  
a. Saidapet    b. Triplicane   c. Egmore 

d. Tambaram    e. Answer not known 
jkpo;ehL fhtyh; mUq;fhl;rpafk; vq;F mike;Js;sJ? 
a. irjhg;Ngl;il   b. jpUty;ypf;Nfzp  c. vOk;G+h; 
d. jhk;guk;    e. tpil njhpatpy;iy 
 

72. Tamil Nadu Social Welfare Board (T.N.S.W.B.) was formed in the year __________ . 
a. 1953    b. 1954   c. 1955 
d. 1965    e. Answer not known 
jkpo;ehL r%fey thhpak; cUthf;fg;gl;l Mz;L __________ .  
a. 1953    b. 1954   c. 1955 
d. 1965    e. tpil njhpatpy;iy 

73. Tamil Nadu government has decided to introduce ___________ % of horizonal 
reservation for government schools in admission to medicine engineering and other 
courses. 
a. 6.5%  b. 7.3% c. 7.5% d. 7.7% e. Answer not known 
jkpofj;jpy; nghwpapay;> kUj;Jtk; kw;Wk; ,ju gbg;Gfspy; Nru _______ % ,l xJf;fPL 
muRg; gs;spfspy; gapYk; khzth;fSf;F toq;f jkpof muR KbntLj;Js;sJ.  
a. 6.5%  b. 7.3% c. 7.5% d. 7.7% e. tpil njhpatpy;iy 
 

74. Match the following 
Association /Party   Year of the formation/Establishment 

i. Madras Dravidian Association    1. 1916 
ii. Self Respect Movement   2. 1925 
iii. South Indian Liberal Federation 3. 1944 
iv. Dravida Kazhagam   4. 1912 
 i ii iii iv 
a.  4 2 1 3 
b.  1 2 4 3 
c.  4 1 2 3 
d. 2 4 1 3 
e.  Answer not known 
nghUj;Jf: 
 fl;rp / ,af;fk;   Njhw;Wtpf;fg;gl;l Mz;L 
i. nkl;uh]; jpuhtpl ,af;fk;   1. 1916 
ii. Rakhpahij ,af;fk;    2. 1925 
iii. njd;dpe;jpa jhuhsthjf; $l;likg;G  3. 1944 
iv. jpuhtplh; fofk;     4. 1912 

i ii iii iv 
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a.  4 2 1 3 
b.  1 2 4 3 
c.  4 1 2 3 
d. 2 4 1 3 
e.  tpil njhpatpy;iy 

 
75. Swadeshi Steam Navigation Company was launched by V.O. Chidambaranar at 

Thoothukudi. He purchased two ships _____________ and __________ and plied them 
between _________ and __________. 
a. Galia and Lavo ; Thoothukudi and Colombo 
b. Tania and Galia ;  Thoothukudi and Burma 
c. Tania and Lavo ; Poombhukar and Burma 
d. Galia and Tania ; Thoothukudi and Indonesia 
e. Answer not known 
t.c.rpjk;gudhuhy; J}j;Jf;Fbapy; RNjrpf; fg;gy; epWtdk; njhlq;fg;gl;lJ. mth; 
______ , ___________ vd;w ngah;fisAila ,uz;L fg;gy;fis thq;fpdhh;. mit 
______ f;Fk; ______ f;Fk; ,ilNa nrYj;jg;gl;lJ. 
a. fhypah> yhNth : J}j;Jf;Fb> nfhYk;G  
b. lhz;ah> fhypah : J}j;Jf;Fb> gh;kh 
c. lhd;ah> yhNth : G+k;Gfhh;> gh;kh 
d. fhypah> lhd;ah : J}j;Jf;Fb> ,e;NjhNdrpah 
e. tpil njhpatpy;iy 
 

76. Lokesh invested Rs.10,000 in a bank that pays an interest of 10% per annum. He 
withdraw the amount after 2 years and 3 months. Find the interest he receives. 
a. Rs. 1,750   b. Rs. 2,000   c. Rs. 2,250   
d. Rs.2,500   e. Answer not known 
Mz;bw;F 10 % tPjk; tl;b jUk xU tq;fpapy; NyhNf~; &.10>000 itg;G epjpahf 
nrYj;jpdhh;. mj;njhifia 2 Mz;Lfs; 3 khjq;fSf;Fg; gpwF mth; jpUk;gg; 
ngWfpwhh;. mth; ngw;w tl;biaf; fhz;f. 
a. Rs. 1,750   b. Rs. 2,000   c. Rs. 2,250   
d. Rs.2,500   e. tpil njhpatpy;iy 
 

77. If a principal is getting doubled after 4 years, then calculate the rate of Simple interest. 
a. 20%   b. 25% c. 30%  d. 50%  e. Answer not known 
Xh; mryhdJ 4 Mz;Lfspy; ,uz;L klq;fhfpwJ vdp;y; mjd; jdp tl;b tPjj;ijf; 
fhz;f. 
a. 20%   b. 25% c. 30%  d. 50%  e. tpil njhpatpy;iy 
 

78. In how many years will a sum of Rs. 5.000 amount to Rs. 5,800 at the rate of 8% per 
annum? 
a. 2 years    b. 2 ½  years    c. 3 years 
d. 1 year   e. Answer not known 
vj;jid Mz;Lfspy; 8% tl;b tPjj;jpy; &.5>000 khdJ &. 5>800 Mf khWk;.  
a. 2 Mz;Lfs;   b. 2 ½  Mz;Lfs;   c. 3 Mz;Lfs; 
d. 1 Mz;L   e. tpil njhpatpy;iy 
 

79. Two dice are rolled together.  Find the probability of getting a doublet or sum of faces 
as 4.  
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a. 
1

9
  b. 

4

9
  c. 

5

9
   d. 

2

9
   e. Answer not known 

,uz;L gfilfs; cUl;lg;gLfpd;wd. ,uz;L Kf kjpg;GfSk; rkkhf ,Uf;;f my;yJ 
Kf kjpg;Gfspd; $Ljy; 4 Mf ,Uf;f epfo;jfitf; fhz;;;. 

a. 
1

9
  b. 

4

9
  c. 

5

9
   d. 

2

9
   e. tpil njhpatpy;iy 

 
80. A man has two children and at least one of them is a girl. What is the probability that 

both children are girls? 

a. 
1

3
  b. 

1

2
  c. 

1

4
  d. 

3

3
  e. Answer not known  

xUtUf;F ,uz;L Foe;ijfs; kw;Wk; VjhtJ xU Foe;ij ngz; Foe;ij. ,uz;L 
Foe;ijfSk; ngz; Foe;ijfshf ,Uf;f epfo;jfT vd;d? 

a. 
1

3
  b. 

1

2
  c. 

1

4
  d. 

3

3
  e. tpil njhpatpy;iy 

 
81. At what rate percent per annum, compound interest will Rs. 10,000 amount to Rs.13,310 

in three years? 
a. 9%  b. 7%  c. 8 ½%  d. 10%  e. Answer not known 
Mz;Lf;F ve;j tpfpjj;jpy;> $l;L tl;b 3 Mz;Lfspy; &.10>000 njhif &.13>310 Mf 
,Uf;Fk;? 
a. 9%  b. 7%  c. 8 ½%  d. 10%  e. tpil njhpatpy;iy 

 
82. In a Laboratory, the count of bacteria in a certain experiment was increasing at the rate 

of 2.5% per hour. Find the bacteria at the end of 2 hours if the count was initially 
5,05,600.  
a. 531196   b. 539611   c. 511396 
d. 539116   e. Answer not known 
xU Ma;tfj;jpy; xU Fwpg;gpl;l Nrhjidapy; ghf;Bhpahf;fspd; vz;zpf;if kzpf;F 
2.5% tPjk; mjpfhpj;J tUfpwJ. Muk;gj;jpy; ghf;Bhpahf;fspd; vz;zpf;if 5>05>600 Mf 
,Ue;jhy; 2 kzp Neu Kbtpy; ghf;Bhpahf;fspd; vz;zpf;if vt;tsT? 
a. 531196   b. 539611   c. 511396 
d. 539116   e. tpil njhpatpy;iy 
 

83. The length, breadth and height of a cuboid are increased by 10%. Then the volume of 
the cuboid is increased by  ____________  %.  
a. 30%   b. 33%  c. 33.1% d. 33.3% e. Answer not known 
xU fd nrt;tfj;jpd; ePs> mfy cauq;fs; KiwNa 10% mjpfhpf;Fk;NghJ mjd; fd 
msT mjpfhpf;Fk; rjtPjk; vd;d? 
a. 30%   b. 33%  c. 33.1% d. 33.3% e. tpil njhpatpy;iy 
 

84. The surface area of a sphere is 154 sq.m. Find its diameter. 
a. 7 m  b. 10.5 m c.14 m  d. 21 m e. Answer not known 
xU Nfhsj;jpd; Gwg;gug;G 154 r.kP vdpy; mjd; tpl;lk; fhz;f. 
a. 7 kP  b. 10.5 kP c.14 kP  d. 21 kP  e. tpil njhpatpy;iy 
 

85. The volume of a cylindrical water tank is 1.078 x 106 litres. If the diameter of the tank is 
7 m find its height. 
a. 28m  b. 7m  c. 78 m d. 18m  e. Answer not known 
xU cUis tbt jz;zPh; njhl;bapd; fd msT 1.078 x 106 ypl;lh; MFk;. njhl;bapd; 
tpl;lk; 7 kP vdpy; mjd; cauk; fhz;. 
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a. 28kP  b. 7 kP  c. 78 kP  d. 18 kP  e. tpil njhpatpy;iy. 

 
86. If the HCF of two numbers 36 and 156 is 12, then its LCM is  

a. 468  b. 452  c. 152  d. 156  e. Answer not known 
36>156 vd;w ,U vz;fspd; kp.ngh.t. 12 vdpy; mtw;wpd; kP.ngh.k.  
a. 468  b. 452  c. 152  d. 156  e. tpil njhpatpy;iy. 

 
87. If tn is the nth term of A.P., then t2n – tn is ____________ .  

a. nd    b. (n+1)d   c. (n-1) d   
d. nd +1   e. Answer not known 
tn vd;gJ xU $l;Lj; njhlh;thpirapd; n-tJ cWg;G vdpy;>t2n–tn-apd; kjpg;G _______. 
a. nd    b. (n+1)d   c. (n-1) d   
d. nd +1   e. tpil njhpatpy;iy 
 

88. Next term in the sequence 3,7,13,21,31 is  
a. 39  b. 41  c. 43  d. 45  e. Answer not known 
3,7,13,21,31 vd;w njhlhpy; mLj;j cWg;G 
a. 39  b. 41  c. 43  d. 45  e. tpil njhpatpy;iy 
 

89. Find the value of ( 13+23+33+….+153)- (1+2+3+….+15) 
a. 14400   b. 14200   c. 14280   
d. 14520   e. Answer not known 
kjpg;G fhz;f: ( 13+23+33+….+153)- (1+2+3+….+15) 
a. 14400   b. 14200   c. 14280   
d. 14520   e. tpil njhpatpy;iy 
 

90. Find the GCD of the following: 
(x3 - 27),  (x - 3)2,  (x2 - 9) 
a. (x-3)   b. (x+3) c. (x-3)2  d. (x-9)  e. Answer not known 
(x3 - 27),  (x - 3)2,  (x2 - 9) ,tw;wpd; kP.ngh.t.fhz;f. 
a. (x-3)   b. (x+3) c. (x-3)2  d. (x-9)  e. tpil njhpatpy;iy 
 

91. The product of 2 two digit numbers is 300 and their HCF is 5. What are the numbers? 
a. (15, 20)  b. (10, 30) c. (50, 60) d. ( 25, 12) e. Answer not known 
,uz;L <hpyf;f vz;fspd; ngUf;fw;gyd; 300 kw;Wk; mtw;wpd; kP.ng.fh. 5 vdpy; 
mt;ntz;fs; ahit? 
a. (15, 20)  b. (10, 30) c. (50, 60) d. ( 25, 12) e. tpil njhpatpy;iy 
 

92. Study the following and answer: 

[4-1  32 x 2+10]  [73-8 x 4 – 7] = ? 

In the above mentioned problem, If all – are +, all  are x, all + are -, all x are  then, 
what will be the result? 
a. 210  b. 260  c. 300  d. 840  e. Answer not known 
fPo;fz;ltw;iw ftdpj;J tpilaspf;fTk;. 
[4-1  32 x 2+10]  [73-8 x 4 – 7] = ? 

– vd;gJ  + vdTk;, + vd;gJ  - vdTk;,   vd;gJ   x vdTk;, x vd;gJ     vdTk;> 
nfhz;lhy; tUk; kjpg;G fhzTk;. 
a. 210  b. 260  c. 300  d. 840  e. tpil njhpatpy;iy 
 

93. If AT = 20, BAT = 40 then What will be equal to CAT? 
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a. 30  b. 50  c. 60  d. 70  e. Answer not known 
If AT = 20, BAT = 40 vdpy; CAT vd;gJ vjw;F rkk;? 
a. 30  b. 50  c. 60  d. 70  e. tpil njhpatpy;iy 
 

94. X,Y and Z can do a piece of work; in 4,6 and 10 days respectively.  If X,Y and Z work 
together to complete the work, then find their separate shares if they will be paid 
Rs.3,100/- for completing the job. 
a. 1500 : 1000 : 600  b. 600 : 1000 : 1500   c. 700 : 1100 : 1300 
d. 1300 : 1100 : 700  e. Answer not known 
X, Y kw;Wk; Z MfpNahh; xU Ntiyia KiwNa 4>6 kw;Wk; 10 ehs;fspy; Kbg;gh;. X, Y 
kw;Wk; Z Mfpa %tUk; xd;WNrh;e;J me;j Ntiyia Kbj;jhy;> mjw;fhf mth;fSf;F 
&. 3>100/- toq;fg;gLk;. vdpy;> mth;fs; jdpj;jdpNa ngWk; gq;Ffisf; fhz;f. 

a. 1500 : 1000 : 600  b. 600 : 1000 : 1500   c. 700 : 1100 : 1300 
d. 1300 : 1100 : 700  e. tpil njhpatpy;iy 
 

95. Madhavi and Anbu bought two tables for Rs. 750 and Rs.900 respectively.  What is the 
ratio of the Prices of tables bought by Anbu and Madhavi? 
a. 3:4  b. 4:3  c. 5:6  d. 6:5  e. Answer not known 
khjtpAk; md;GTk; ,uz;L Nkirfis KiwNa &. 750 kw;Wk; &.900 f;F thq;fpdhh;fs;. 
md;GTk; khjtpAk; thq;fpa Nkirfspd; tpiyfspd; tpfpjj;ij vspa tbtpy; $W. 

 a. 3:4  b. 4:3  c. 5:6  d. 6:5  e. tpil njhpatpy;iy 
 
96. If the ratio of Green : Yellow : Black balls in a bag is 4 : 3: 5, then how many balls in total 

are there in the bag, if you have 40 black balls in it? 
a. 12  b. 56  c. 64  d. 96   e. Answer not known 
xU igapy; gr;ir : kQ;rs; : fUg;G epw ge;Jfs; 4 : 3 : 5 vd;w tpfpjj;jpy; cs;sd. 
mjpy; fUg;G ge;Jfspd; vz;zpf;if 40 vdpy; igapy; cs;s nkhj;j ge;Jfspd; 
vz;zpf;if? 
a. 12  b. 56  c. 64  d. 96   e. tpil njhpatpy;iy 
 

97. 60 workers can spin a bale of cotton in 7 days.  In how many days will 42 workers spin 
it? 
a. 11  b. 15  c. 12  d. 10   e. Answer not known 
60 Ntiyahl;fs; xU gUj;jp E}y; cUz;ilia E}w;f 7 ehl;fs; Njitg;gLfpwJ. 42 
Ml;fs; mNj Ntiyia Kbf;f vj;jid ehl;fs; MFk;? 
a. 11  b. 15  c. 12  d. 10   e. tpil njhpatpy;iy 
 

98. 4 typists are employed to complete a work in 12 days.  If two more typists are added, 
they will finish the same work in __________ days. 
a. 7  b. 8  c. 9  d. 10  e. Answer not known 
4 jl;lr;rh;fs; xU Ntiyia Kbf;f 12 ehl;fs; vLj;Jf; nfhs;fpd;wdh;. NkYk; 2 
jl;lr;rh;fs; $Ljyhfr; Nrh;e;jhy; mNj Ntiyia _________ ehs;fspy; nra;J Kbg;gh;. 
a. 7  b. 8  c. 9  d. 10  e. tpil njhpatpy;iy 
 

99. A number when decreased by 20 % gives 80. Find the number. 
a. 200  b. 100  c. 300  d. 400  e. Answer not known 
xU vz;iz 20 % Fiwj;jhy; 80 fpilf;fpwJ vdpy;> me;j vz;izf; fhz;f. 
a. 200  b. 100  c. 300  d. 400  e. tpil njhpatpy;iy 
 

100. Simplify: 
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5 3 3 4

2 2

14 12

2 3

p q p q

p q q
−  

 a. 11 p3 q2   b. 3 p6 q4    c. 3 p3 q2 

 d. 11 p6 q4   e. Answer not known 
RUf;Ff: 

5 3 3 4

2 2

14 12

2 3

p q p q

p q q
−  

 a. 11 p3 q2   b. 3 p6 q4    c. 3 p3 q2 

 d. 11 p6 q4   e. tpil njhpatpy;iy 

 
 
 


